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OR

(a) ELEVEN 3 & 941 3Rl 9 fhaw fa=ma a9 <1 9ad ©
I JRUd ¥g EH URYT 8 N TR FAT 817

In how many ways can the alphabets of the word 'ELEVEN' be
rearranged, if every word begins from E and ends on N?

(b) T B TS A 2 G i T | 3HD! T Ul & b J o
T 27
Two cards are drawn from a playing card deck. What is the
probability that the cards are jacks?

___X___

Time : 3 Hrs.
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Note : Section'A', containing 10 very short-answer-type questions, is compulsory.
Section 'B' consists of short-answer-type questions and Section 'C'
consists of long-answer-type questions. Section 'A' has to be solved first.

Section - 'A'
futukfdr vfry2akjh ¢'uk d mikj ,d ;k nk okD;k e nA
Answer the following very short-answer-type questions in one or two
sentences. (1x10=10)

T 1. 3ifde fhas UBR & B &7
How many types of Data are there?

U 2. Bald YgRT | a1 AR &7
What is meant by central tendency?

T 3. STUBROT BT URATT SIS |
Define dispersion.

e 4. A DI YR BN - J = HE e ) Complete the formula.

P.T.O.
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IR 5.

U3 6.

R 7.

U3 8.
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FTel 09T & FEHaY UME UM HT DIy Vb g 9a18V |

Write down any one formula of computation of Karl Pearson's correlation

index.

y=11.64 - 0.5x FHIPHRT H YATGTHT Tcb BT A sy |
Find out the regression coefficient in the equation y=11.64 - 0.5x.
fdene & IR A & g3 9dgy |

Write down the Laspeyre's formula of Index Number.

et Sl a7 aRvmeT RTY |

Give definition of time series.

qaigae @ &l UBRI Bl dd18y |

Write down two types of forecasting.

Ue 10.97gf8d aR @I gRur ARY |

TR 1.

R 2.

Give the definition of random variable.
Section - 'B'

fuEukfdr y?% mikjh; c¢'uk d mikj 150&200 “Kn Dhek e n
Answer the following short-answer-type questions with word
limit 150-200 (5x5=25)
BT & IeTT TR THTT STfely |
Explain the objective of classification.

OR

gD DI URFTYT ERTY | IgaAd M B AFEIAROl [l &1
HHEATRU |

Define mode. Explain the grouping method of computing mode.

fowwar T 27 favHar & &rel fOIs Ud 91Sel J1U} a7 ARAT BT |

What is skewness? Explain Karl Pearson and Bowley's measure of

skewness.

OR

ey faae 59 ded 87 39T 0T fhd UhR &I Il 87?
What is mean deviation? How is it calculated?

TR 3.

R 4.

YR 5.
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Find out coefficient of correlation through concurrent deviation method
from the following data.

EIﬁ"ZIT‘T(PriCC) 368 [ 384 | 385 [ 361 | 347 | 384 | 395 | 403 | 400 |385

3MaTd(Import) |22 |21 | 24 |20 | 22 | 26 | 24 | 29| 28 (27

OR
YT I 31T RIT FH8d &7 I8 dedey 9 fhg yeR = 872

What do you mean by regression? How does it differ from correlation?
ADBIH R 87 FABIDI DI AT H T dTell Al FoRamall &1
U BITY |

What is index number? Describe various problems in the construction of

Index number.

OR
T 3ifeheT | =et Al U A gIRT 3frard gaAdicd ST DIy |

Find out seasonal indices by method of moving average from following
data:-

JATRIH (Quarterly)
qY (Year) [ Il 11 v
2001 63 62 61 63
2002 65 53 66 61
2003 63 63 63 67

(a) BALLOON 3eg & 37eR BT fhds ISR W yaRkerd fdar <
HPHaT & dlicb &l '0' U A1 7 32
In how many ways can the letters of word BALLOON be arranged
so that two 'O' do not come together?

(b) afe 10 RIFPT BT TH AT IBTAT S AT S1b 5 Y 3 BT
UTfehar aar grfl?

In tossing 10 coins simultaneously, what is the propability of having

exactly five head?

P.T.O.
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TR 3.

TR 4.

IR 5.
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Tegey BT uRART HIFTT derm AR fageyor # 59 dg &
e T IR |

Define correlation and explain its importance in the statistical analysis.
OR
a1 TR B 4 GATET N e g -
2x-3y=07AT 4y - 5x -8 =0
Sl A TOTd TA1 x 3R y & 19 Fedad od =ra
PR |

The equations of the regression lines between two variables are expressed
as 2x-3y=0and 4y - 5x - 8§ =0 find

and the correlation coefficient between x and y.

both regression coefficients

=T sifehel o SUMITT &I Fadbidh S HITY

Calculate the consumer price index number from the following data :
T (Class) Jadih (Index No.) | AR (Weight)
9reI (Foodgrain) 150 15
A6 fhRmam(House rent) 100 12
S 9 ydr(Fuel & light) 110 9
$Us(Cloths) 120 10
fafder (Miscellaneous) 90 14

OR
BTN H B il Af= Seardadl b a9ssu |

Explain various fluctuations in a time series.

TqUSH & fAshd DI TIfAT B dlel BIF-PIF W T 27 ARAT DI |

What are the factors affecting the company sales? Explain.

OR
I T U B I & AT a1 Wi & o gt &1 anT (1) 9 g
(2) 9 & 3rfrs BrTT?
If two dice are tossed what is the probability that the sum of the numbers
showingwillbe (i)9  (ii) More than 9?7

P.T.O.

¥>

TR 3.

U3 4.

IR 5.
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AEHEE BT URATNT DI TAT AIRIDB fATeIT § 3dD Ao DI
JeFT DI |
Define correlation and explain its importance in the statistical analysis.

OR

& R B 9 AaTHT @ e g -
2x-3y =07 4y - 5x -8 =0

x, GFl YAOTEA TONE TAT x 3R y & I Agdey YUlid =T
HITY |

The equations of the regression lines between two variables are expressed
as 2x-3y=0and 4y - 5x - 8 =0 find

and the correlation coefficient between x and y.

both regression coefficients

=T sifehel o SUMIGT &I adbIdh <1 DI

Calculate the consumer price index number from the following data :
T (Class) Jadih (Index No.) | AR (Weight)
WreI (Foodgrain) 150 15
A6 fhRma(House rent) 100 12
o 9 yar(Fuel & light) 110 9
$Us(Cloths) 120 10
fafder (Miscellaneous) 90 14

OR
BTN H B a1l AfI= Seardal b A9ssy |

Explain various fluctuations in a time series.

YqUSH & fAshd DT TIfAT B dTel BIF-PIF W T 2?7 ARAT DI |

What are the factors affecting the company sales? Explain.

OR
I T U B I & AT a1 Wi & o gt &1 anT (1) 9 g
(2) 9 & 3rfrs BrTr?
If two dice are tossed what is the probability that the sum of the numbers
showingwillbe (i)9  (ii) More than 9?7

P.T.O.
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R 2.
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Section - 'C'

fuEukidr nh?k mikgh; ¢*uk d mikj 300&350 *iCn Bhek e ni
Answer the following long-answer-type questions with word
limit 300-350 (8x5=40)
AR Teh=Tebl T Y FAT FHSA &7 qAd g H g1 HBed bl
IS |

What do you mean by statistical tools? Explain its importance in modern

age.

OR

3T IRFERAT BT S DI A AP 24 7 |

Find the missing frequencies if Mode is 24.

@d (Expenditure){0—10 [10—20 | 20—30 | 30—40 | 40—50 | IRT Total

URIRT & T | 14 — 27 — 15 100

(No. of families)

1 T | TR Aed, YA fdeer ud g fdEer qone Sid
BIFTY |

Find arithmetic mean, standard deviation and coefficient of standard
deviation from the following data :-

T 3faxTel(Class interval) [0—5 |5—10 [10—15 | 15—20 | 20—25

dRFRdAI(Frequency) 2 8 15 3 2

OR

=1 sfiepsl A Pretl [UAT Td arael &l fIvHar [urie S Iy |
Find the Karl Pearson and Bowley's coefficient of skewness from the
following data :-

W(Income)ﬁWLess than 10 20| 30| 40| 50 | 60

Tl oY Ge(No. of Persons) | 15| 32| 51| 78| 97 | 100

R 1.

R 2.
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Section - 'C'

futukidr nh?k mikjh; ¢*uk d mikj 300&350 *iCn Bhek e ni
Answer the following long-answer-type questions with word
limit 300-350 (8x5=40)
AR Teh=Tebl F Y FAT FHSA &7 gAd g | g1 Heed bl
A |

What do you mean by statistical tools? Explain its importance in modern
age.

OR

3T IRFERAT BT 1A DI A AP 24 7 |

Find the missing frequencies if Mode is 24.

@d (Expenditure){0—10 [10—20 | 20—30 | 30—40 | 40—50 | IRT Total

URART &I GT | 14 — 27 — 15 100
(No. of families)

1 T | TR Aed, YA faeer ud g fEer one Sid
BT |

Find arithmetic mean, standard deviation and coefficient of standard
deviation from the following data :-

T IR dI(Class interval) |0—5 | 5—10 [10—15 | 15—20 | 20—25

dRFRdA(Frequency) 2 8 15 3 2

OR

=1 sfiepsl A Pretl [UAT Td arael &l fawHar o S Iy |
Find the Karl Pearson and Bowley's coefficient of skewness from the
following data :-

GJTJ(Income)“?IEFJ-TLess than 10| 20| 30| 40| 50 | 60

Tl Y F(No. of Persons) | 15| 32| 51| 78| 97 | 100
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